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Cuadro 14 (continuación 5)/Table 14 (continued 5)
México: tablas abreviadas de mortalidada

Mexico: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.027 0.027  100 000  2 661  97 702 0.972 b 7 190 569 71.9
1 4 0.001 0.005  97 339   515  388 086 0.995 c 7 092 867 72.9
5 5 0.000 0.002  96 824   232  483 542 0.998 6 704 782 69.2

10 5 0.001 0.003  96 592   251  482 335 0.996 6 221 240 64.4
15 5 0.001 0.005  96 342   466  480 542 0.994 5 738 905 59.6
20 5 0.002 0.008  95 875   736  477 537 0.991 5 258 363 54.8
25 5 0.002 0.010  95 140   982  473 242 0.988 4 780 826 50.3
30 5 0.003 0.013  94 157  1 196  467 797 0.986 4 307 583 45.7
35 5 0.003 0.015  92 961  1 428  461 236 0.983 3 839 786 41.3
40 5 0.004 0.019  91 533  1 764  453 254 0.978 3 378 550 36.9
45 5 0.005 0.025  89 769  2 276  443 154 0.970 2 925 296 32.6
50 5 0.007 0.035  87 493  3 058  429 820 0.958 2 482 141 28.4
55 5 0.010 0.050  84 435  4 201  411 674 0.939 2 052 321 24.3
60 5 0.015 0.072  80 235  5 788  386 703 0.912 1 640 647 20.4
65 5 0.022 0.105  74 447  7 839  352 635 0.872 1 253 944 16.8
70 5 0.033 0.153  66 607  10 209  307 516 0.816  901 308 13.5
75 5 0.049 0.220  56 399  12 431  250 918 0.712  593 793 10.5
80 5 0.092 0.376  43 968  16 514  178 556 0.569  342 875 7.8
85 5 0.143 0.520  27 454  14 275  101 584 0.440  164 319 6.0
90 5 0.199 0.645  13 179  8 497  44 653 0.328  62 735 4.8
95 5 0.263 0.749  4 682  3 507  14 641 0.190 d  18 082 3.9

100 ω 0.341 1.000  1 175  1 175  3 441  3 441 2.9
Mujeres/Females

0 1 0.022 0.021  100 000  2 148  98 138 0.977 b 7 674 454 76.7
1 4 0.001 0.004  97 852   430  390 317 0.996 c 7 576 317 77.4
5 5 0.000 0.002  97 423   168  486 693 0.998 7 186 000 73.8

10 5 0.000 0.001  97 255   131  485 945 0.998 6 699 307 68.9
15 5 0.000 0.002  97 123   167  485 199 0.998 6 213 361 64.0
20 5 0.000 0.002  96 956   235  484 193 0.997 5 728 163 59.1
25 5 0.001 0.003  96 721   299  482 857 0.996 5 243 969 54.2
30 5 0.001 0.004  96 422   399  481 110 0.995 4 761 112 49.4
35 5 0.001 0.006  96 022   579  478 664 0.992 4 280 002 44.6
40 5 0.002 0.009  95 443   879  475 018 0.988 3 801 338 39.8
45 5 0.003 0.014  94 564  1 350  469 444 0.982 3 326 320 35.2
50 5 0.005 0.022  93 214  2 076  460 879 0.972 2 856 876 30.6
55 5 0.007 0.035  91 138  3 161  447 787 0.956 2 395 998 26.3
60 5 0.011 0.054  87 977  4 735  428 047 0.932 1 948 211 22.1
65 5 0.017 0.083  83 242  6 909  398 937 0.896 1 520 174 18.3
70 5 0.027 0.127  76 333  9 665  357 503 0.844 1 121 227 14.7
75 5 0.042 0.190  66 668  12 667  301 673 0.749  763 724 11.5
80 5 0.078 0.327  54 001  17 660  225 857 0.614  462 051 8.6
85 5 0.125 0.473  36 342  17 189  138 735 0.481  236 194 6.5
90 5 0.180 0.606  19 152  11 597  66 768 0.362  97 459 5.1
95 5 0.243 0.720  7 555  5 441  24 172 0.212 d  30 691 4.1

100 ω 0.324 1.000  2 114  2 114  6 520  6 520 3.1

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


